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1. Find the Determine of the following matrix. (10%)
2 0 -4 6
4 5 1 0
0 2 6 -1
-3 8 9 1

2. Given A:F 1} ' Find e*. (15%)
1 4

3.Given y"+0.2y'+0.26y =1.22e***, y(0)=3.5, y'(0)=0.35, Find vy: (10%)

4. Solve the initial value problem (10%)

y"—y=105(t—%)—100§(t—1), y(0)=10, y'(0)=1
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u, (0, t)=u,(¢, t)=0, u(x, 0)=1.Find U:

— Bu , where £ isa constant. (15%)

6. Evaluate (counterclockwise) (10%)

@ § 30z%-23z+5

—————dz, C:|z|=1
¢(22-1)*(3z-1) : 2
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7.Solve the given initial value problem (15%)
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8.Given the function f(x):x? r<x<xm (15%)
(a) Find its Fourier series (10%)
(b) Show that 1+1+E+i+ —12 (5%)
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